2004-2005 7TH GRADE CONTEST SOLUTIONS

Answers

29. The 1st 12 won 12X $80 = $960. The next 20 won 20x $70 = 29.
$1400. The 32 contestants won an average of $2360+32 = $73.75. A
A) $73.75 B) $74.75 C) $75.00 D) $75.75
30. 4¥x 43 = 43%3 = 46 A)16° B)16° C)4° D)4° [30.D
31. 4 such circles fit inside a (Y- 31
square of side-length 4. <> 2 B
A)1 B)4 C5 D)16 AT ;O:
32. Justas1-0.9 =0.1,01% = 1.0% — 0.9%. 32.
A)0.009% B)0.09% C)09% D)10% C
33. Change each answer choice to months. 33.
Since 6 years = 72 months, and 5 years
ago I was 1 year old, choice A is correct. A
A) 6 B) 7 C 8 D) 12
34, /BTXBIXBIXBI = V81* =812 so V/BIXBIxBIx 81 = V812 = 81. |34
A) 3 B) 9 Q) 27 D) 81 D
35. If a product is even, at least 1 factor must be even. 35.
A) 2005 B) 2004 Q) 1 D) 0 B
36. 1/2 is one-fourth of 2, its reciprocal, so choice A is correct. 36.
1 1 A
A) 3 B) i C) 2 D) 4
37. 21 = 3x7; 51 = 3x17; 81 = 3X27; 91 = 7x13. Other 5 are prime. | 37.
A) 4 B) 5 C) 6 D) 7 B
38. (301—1) + (302—2) + ... + (325—25) = (300) X 25 = 7500. 38.
A)25 B)2500 C)5000 D) 7500 D
39. Angle at 4:30 is 45°. Each min., the min. 39.
hand moves 6°, hr. hand moves 0.5°, so the
angle increases 5.5°. The 8-min. increase D
is 44°, so the angle at 4:38 is only 89°. @’
A)436 B)4:37 C)438 D)4:39
40. If H+K+L+N = 2005, then H is less than 40.
2005+4 = 501.25. If H = 498, H+K+L+N =
498+-501+502+504 = 2005. Since M and N are the middle of the C
alphabet, the average of all 26 letters is (503+504)+2 = 503.5. '
A) 491 B) 498 C) 503.5 D) 505.5

The end of the contest @&y [
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Information & Solutions

February 15 or 22, 2005 ?
Contest Information
m Solutions Turn the page for detailed contest solutions (written in the

question boxes) and letter answers (written in the Answers column to
the right of each question).

B Scores Please remember that this is a contest, not a test—and there is no
“passing” or “failing” score. Few students score as high as 30 points
(75% correct). Students with half that, 15 points, deserve commendation!

= Answers & Rating Scale Turn to page 141 for the letter answers to
each question and the rating scale for this contest.

Copyright © 2005 by Mathematics Leagues Inc.

orr



L8

J. 4w 28vd 3xou ay3 07 uo 09

o
8¢

sy (a 48 ®) 9 (g 0 (v
(aquInu I3[EWSs 3y} 301M} Aq DUSISJIP Y} SPIDXd skemre
wns aY]) "] pue Z[ SI SHI0M JeY) 135 dUQ ‘sIdqunu swos A1f,

'8¢

Y44

% (a oz O s (@ I (v
D £ st p3ua] s 5pIs ISHOYS 3y} pue ‘ub g st Yi3uay s,3pis 1a8uo]
a3 uay ’zum 9g S1 BaTe s3I pue ‘ubd (¢ ST Iajauriad sa8uepar e J

L

v (a € 0 T (4 I (v
T St Ispurewal ay3 ‘s 4q 91
ap1AIp nok usayp 9] 2q PInod simoA pue g aq pmod ade AN

safassost ((J suapeds (D Tesje[mba (g arenbs (v
‘sip8ua] enba saey uo84jod remndax e Jo sapis [y

x9e (@ %6 O x9 (@ =z (v
'$,[99YM JUOIJ Y} UBY} SIOUI UId 29 SI
YoIyMm ‘ud 22 X (9+p) ST 9OUSIFUNIID
§,[93UM Ieal aYJ, 'S,]a3yM JUoij Y3 uey}
2I0W WD 9 ST JIJIUIRIP §,]3YM Jeal Y],

0E
1T (@

0Ix0I (@ 01%X6(D T'6xI'6(d 0I+6%X6(V
06 ST I8 = 6 X 6 Uey 1232313 sjeys O Jo sidunur Jsaffewss Y[,

w

12

vz (a €1 O AR(| I (v

'sjusapnys pajeas €1 sAeYL 'S¢ PUe ‘€T ‘I ‘61 L1 ‘ST ‘€1 ‘11
‘6 ‘/ ‘G ‘g ‘I syeas Ul syudpnIs ay} nd ‘syuapnys Jsowr ayy Jeas of,

‘12

LT _ EXEXE _ (E
5 d2)

6 £
s@ (v 8 — TXTXT AT

A

@@ @O 6@ ¢
‘I8 ST I8 JO I01oe} ppo Isa3re] Yy

61

g6 @ 0 O ov(@ ocv
uny uey} sjooq a1ow g6 = 9—-y01
s3ea apu(] Teak e 9 10 ‘syjuowr 7 L1243
300q T Sea WLIOMM00g Juny aedk e H0I

IO “J23M ® $00(q T S)ed ULIoM00g 3]dU()

81

ool @ o0 O o1@ 6(W
‘wins puodas 3y} ur uonisod swes sy ur Isquinu
aY) UeY) dJ0UI T SI WNS JSI Y3 UI SIaquInu g ay3 Jo yoey

Ll

91

si8uely v (q sduepary (O uolexay y (g uoepo uy (v
[T ]-a13ue3oa1 € uLI0f 3pIS UOWIWOD B YIIM sarenbs 7 ‘umoys sy

91

Slomsuy

SNOIINTINC ICTINNY TN HI L S00Z-¥00T

98

/. < 28vd yxau ayz 07 uo 09

35 " (@ 91 O v (a T (v
ST IIp = p =FOSTPHI =00 LA 98N = 00LF 6T
0§ o SE SL
¥l ‘pasnpal 3q jouued -g% Vi
0s (a s O € (@ T (v
v ‘047 ST YDIYM ‘00T £19A3 JO 7 se awres ayj sJey]
€1 ‘05 41343 JO | se aures 3y} SI OGL A1aA3 Jo ¢ ]
a 99 (@ ss O w (@ ge (v
7L ¥ Aq ajqisiatp st 1a3owrad ayy os ‘Tenba axe syiduar-apis [y “ZI
v oosz (a 00s O osz (d 001 (v
11 ‘s1ayrenb op = s[o1U oG 233ENb [ = SO G dUIg T
vor| m@o0 e@1w 1=1xixr=ExE)xxF)xExE) o
q €l (@ a O Ir (@ or (v
‘6 | 'TEPUe ‘6T ‘€T ‘61 ‘L1 ‘€L ‘11 'L ‘S '€ ‘T :ArIN i shep surud [T are ax3y], ‘6
48 | #£+1@@ F+g 0O Frd@ £+ FrI=Ll =T+ 8
66 (a 06 O 68 (d 88 (v
J *s}I3Ip TPy} JO WNS Y} UBY) 13Jea1d dIe SIdqUNU (6 [[e ‘SHSIp
9/ SJ JO WINS 3} Uey} Joyeaid ST ISI[ 93 UO Jaquunu AI3A3 dUl§ 4
5 oooz (a osc O 0s (d sz (v
9 ‘057 X 0L = 00ST = 00§ X§ = Wms Y] ‘9
MR Wd 804 (@ ‘Wd oozt O
R WVoEL @ Wvoet (v
q G IR 2 NV 0Z:£ e uedaq Aep
1" IS Irey peq Aw ‘sanoy g = sImoy
S ! , (09+0Tz) = sanurur o7z dUIg °G
5 S AN 9@ g€ wvel@ €o0(v
v > 7" ¢ 0y dn spunox s 9HE = 000X 9GFE
a o021 (@ 06 O 08 (4 09 (v
€ | o021 = (0F+400)—,081 2q ISnu A[3ue pig YL “,08] St WNS YL '€
a I (@ ) 1 (g 0 (v
T TL=1+0+0L+0=T1+(Ox0 + @Ix1)+ ({Ix0 T
¥1 (@ L0 9 (g s (v
o) ‘§ JO surea} dI0W / 318 dIY] ‘s1afeld ¥ Jo sures) 17 = §+§8
g pue s1ake[d 9 jo surea3 I = 98 our ds ue> siakerd 38 T
Slamsuy SNOLL10S 1STINOD Iav¥D HIL $00T-+00Z



